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Which region represents the solution P Jan o = Al o i
for the system of inequalities? r2LAD Solve systems of linear inequalities in two variables

y>1

ys-x+1 _S_

a D O
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A bag contains 4 red balls, 2 green 52 ehaa SIS B OaS S
balls. A ball is drawn randomly from s pte U 55w £z . bii (el APPly the multiplication rule to situations involving mdependent
the bag and replaced before a A B Al Jd iy et events
second ball is chosen. Find the el Sl GBS a6 O Jlaat 2y
probability that both balls are red. o
=
_ 2 4
3 X * ¢%3 O
599
4 4
b. —x-—
6 6 O
2 2
¢ —=%—
‘ 6 6 O
|
F
|
4 3
i o3 o €
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Use elimination to solve the system Yl pU Jad ciiadl aais -
of equations. Elimination to solve the system of equations 1
2y—-2x=6
2y +2x=2 S
& (-1,2) O
b (3.4) O
¢ (4,3) O
d (2,-1) O
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Nasser is solving the system of eguations Niad sl e el
6x - 4y = 26 6x - 4y = 26
=Ix+ 4y = =17 -Ix+4y = -17
Is his solution correct? ‘o 4 Ja
If not, what is his mistake? Toleh ga LIS 00 202
Nasser
[ er— &y = b -ANMtay=-n
| =M+ ay=-Nn -G*-l,'=-—l‘7‘
T si=o ay= -8
=3 y=-2

The solution s (3, —3)

'4

BoEC | ¢ JREREE
?
Solve systems of equations by using the elimination method
17 (e 26 Ob&&'&ma}&d\ R
No, the solution is not correct because he subtracted 26 from 17

26 o —18 pa <Y paaa p& Jad Y
No, the solution is not correct because he added —18 to 26

a.n.ad.x.!l |P&J

Yes, the solution Is correct

Ol b Y e H£ Jad Y
No, the solution is not correct because he subtracted the two equations

O
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A cafeteria meal at Mohammad work Sal 2aaa Jai 2 L, 4y y
includes one choice from each category. A S e aay LA Apply the Fundamental Counting Principle
Find the number of possible outcomes. RURSOLE T T
<
.
Mangsn | 3
Sige tsh | 3
Dessent | 2 I a. 48 o
Satad ; 3
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; Next Glestion

Ahmad has an orange shirt and a Al Gy Sy Sand 40l daa
yeliow shirt. He chooses one shirt for a1y camd pgy JS! tinly Liapd iy Define sample spaces and describe subsets of sample spaces
each day, Saturday and Sunday. Sl Ladalg! e Wl Ko
Represent the sample space for this AbL i

dn

experiment by making an organized list.

® . :
b.  {YY,00) ®
¢ {YY,Y0,00) O

d. {Yv,Y0,0Y,00) ®)
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Use substitution to solve the system

of equations.

y-x=-1
2y-x=2

BafECT ’o 11-25
Next Qiiestion
A U gl it ] ) o
o Solve systems of equations by using the substitution method

<

=4

> (-1.2) O

b (4.3) O

¢ (2,-1) @)

4 (3,4) 0O

E
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Solve the inequality. Ao ga e Solve linear inequalities

4x+2<-—-x—8

a x>-2
:
b§x<—2
1
| 8
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What is the probability of spinning 1 0mpipe a3 pap oy Jlial 4 Lo i
& spinhar sumbined 116 S neid not Ts S8 S Al gy S Describe events as subsets of sample spaces by using complements

landing on an even number?

<p

o
0w
O




